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BC 140 6 NPN |10 0.65 1 40 0.6 1 40- 95 {100 1 < 250 |=850( 100 55

10 NPN |10 0.65 1 40 0.6 1 67-150 | 100 1 = 250 |{=850| 100 55

16 NPN |10 | 0.65 1 40 0.6 1 106-236 | 100 1 = 250[=850{100 |[5;5
BC 141 6 NPN |10 {0.65 1 60 0.6 1 40- 95 | 100 1 =250{=850|100 |5;5

10 NPN |10 |0.65 1 60 0.6 1 67-150 | 100 1 =£250{=850|100 |5;5

16 NPN | 10 0.65 1 60 0.6 1 106-236 | 100 1 = 250 (=850 100 5,5
BCY 58 vil NPN |9 0.35 02 |32 =0.35 0.01 |120-220 |2 5 =150 |= 800| 10 1;1

VI [NPN (9 0.35 02 |32 =0.35 0.01 |180-810 |2 5 =150 |=800| 10 1;1

IX NPN |9 0.35 02 |32 =0.35 0.01 | 250-460 |2 5 = 150 [=800|10 1;1

X NPN |9 0.35 02 |32 =0.35 0.01 | 380-630 |2 5 = 150 (= 800 | 10 1; 1
BCY 590 (Vi NPN |9 0.35 0.2 |45 =0.35 0.01 |120-220 |2 5 = 150 {=800| 10 1;1

VIl | NPN |9 0.35 0.2 |45 =0.35 0.01 |180-310 |2 5 =150 (< 800| 10 1; 1

IX NPN |9 0.35 0.2 |45 =0.35 0.01 |250-460 |2 5 =150 (=800| 10 11

X NPN |9 0.35 0.2 |45 =0.35 0.01 | 380-630 |2 5 =150 (=800 10 1;1
BCY 72 PNP |9 0.31 0.2% |25 =05 0,05 |=50 10 1 =65 |=<420|10 1; 1
BCY 78 Vil PNP |9 0.31 02 (32 =025 0.01 |120-220 (2 5 =150 |{=800|10 11

VIl [PNP |9 0.31 0.2 |32 =<0.25 0.01 [180-310 (2 5 =150 =2800|10 11

1X PNP |9 0.31 02 (32 =025 0.01 |250-460 |2 5 =150 (=800| 10 1;1
BCY790 (VI PNP |9 0.31 02 |45 =0.25 0.01 |120-220 |2 5 =150 (=<800| 10 1;1

Vil [PNP |9 0.31 02 |45 =0.25 0.01 |180-310 |2 5 =150 (=800| 10 11

IX PNP |9 0.31 0.2 |45 =025 0.01 |250-460 |2 5 = 150 {= 800/ 10 1; 1
BFX 340 NPN |10 {0.77 5 60 =1 5 40-150 |2000 |2 = 600 | =< 1200 5000 | 500; 500
BFY 56 A NPN {10 |0.71 1 55 =0.25 0.15 | 40-150 [150 1 = 225 |=800|150 75,75
BSS 23 NPN |9 0.54 1 40 =0.75 1 =30 500 1 =356 [=60 |500 |50;50
BSS 42 NPN |10 |0.89 1.5 120 [|=<038 1 =25 1000 |5 40 700 500 | 50; 50
BSS 44 PNP |10 0.77 5 60 =1 5 =40 2000 (2 80 450 500 50; 650
BSS 45 NPN |10 |0.77 5 80 =14 5 =30 2000 |2 =2 300 | = 1000 <1000| 50; 50
BSS 46 PNP |10 |0.77 5 80 =14 5 =30 2000 |2 = 300 | = 1000 = 1000{ 50; 50
BSV 15 6 PNP {10 [3.2% 1 40 =1 0.5 40-100 | 100 1 <500(=650(100 |55

10 PNP |10 |3.29 1 40 =1 0.5 63-160 | 100 1 =< 500 (= 650|100 55

16 PNP |10 3.29 1 40 =1 0.5 100-250 | 100 1 =X 500 (= 650 | 100 5,5
BSV 16 6 PNP (10 |83.2% 1 60 =1 0.5 40-100 | 100 1 = 500 | = 650 100 5.5

10 PNP [10 |3.29 1 60 =1 0.5 63-160 | 100 1 = 500 | = 650 | 100 5,5

16 PNP [10 |3.2% 1 60 =1 0.5 100-250 | 100 1 = 500 | = 650 | 100 5.5
BSV 60 NPN [10 |86.29 3 40 =09 2 50-150 |2000 |2 = 500 [ = 1000 1000 | 50; 50
BSV 69 NPN |10 |3.0% 1 40 =075 1 =30 500 1 =35 =60 |500 |50;50
BSW 19 \ PNP |9 0.26 0.1 30 =03 0.05 | 40-120 |10 1 =150 |=800| 10 1;1

A PNP |9 0.26 0.1 30 =03 0.05 | 100-300 | 10 1 = 150 (=800 10 1;1
BSW 20 vi PNP |9 0.23 0.1 30 =0.3 0.05 40-120 |10 |1 =150 [=800| 10 1;1

A PNP |9 0.23 0.1 30 =0.3 0.05 [100-300 |10 1 = 160 {=800( 10 1.1
BSW 39 6 NPN |10 |0.70 1 80 =0.75 1 40-100 | 100 1 50 300 500 50; 50

10 NPN |10 |0.70 1 80 =0.75 1 63-160 | 100 1 50 300 500 50; 50

16 NPN |10 | 0.70 1 80 =0.756 1 100-250 | 100 1 50 300 500 | 50; 50
BSW 40 6 PNP | 10 0.70 1 80 =0.75 1 40-100 | 100 1 80 300 500 50; 50

10 PNP |10 0.70 1 80 =0.75 1 63-160 | 100 1 50 300 500 50; 50

16 PNP | 10 0.70 1 80 =075 1 100-250 | 100 1 50 300 500 50; 50

25 PNP |10 |0.70 1 80 =<0.75 1 160-400 | 100 1 50 300 500 50; 50
BSW 89 A NPN {11 |03 0.1 30 =03 0.05 |100-300 |10 1 =150 |=800| 10 1;1

B NPN | 11 0.3 0.1 30 =03 0.05 |250-750 |10 1 =150 |=800( 10 1;1
BSX 38 A NPN |9 0.345 0.1 30 =03 0.05 | 100-300 |10 1 =150 (=<800| 10 11

B NPN |9 0.345 0.1 30 =03 0.05 [250-750 |10 1 =150 =800} 10 11
BSX 45 6 NPN | 10 4.4% 1 40 =1 1 40-100 | 100 1 = 200 |= 850 100 5;5

10 NPN | 10 4.4% 1 40 =1 1 63-160 | 100 1 = 200 |=850( 100 5,5

16 NPN [10 |4.4% 1 40 =1 1 100-250 | 100 1 =200(=850{100 |5;5
BSX 46 6 NPN | 10 4.4% 1 60 =1 1 40-100 | 100 1 == 200 | =850 | 100 5.5

10 NPN | 10 4.4% 1 60 =1 1 63-160 | 100 1 == 200 | = 850 100 5,5

16 NPN |10 4.4% 1 60 =1 1 100-250 | 100 1 = 200 | = 850 100 5,5
BSY §5 NPN | 10 0.80 0.5 80 =0.6 0.15 | 40-120 150 10 <200 | < 750 | 150 15; 16
BSY 56 NPN |10 0.80 0.5 80 =0.6 0.15 [100-300 [ 150 10 <200 |< 750|150 15; 15
Remarks: *) foa50 = 45°C; %) Iop 1) feage =25°C
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